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IRST MID TERM EXAMINATION - 2023

MATHEMA Regtc ]
Class : 11 TH TICs “ -
. 1
Fime : 1.7 Hrs MAX. MARKS : 50
PART - |
Answer all the questions , 10x1=10
LA = |(x, ¥):y=¢ 2 ER)andB={(x.v) vV ¢ x€ R} thennid N B) is
L} Infinity 20 i)l 4)2
2. The number of relations on a set containing 2 clements |5
1) 16 2)64 R 4) 256
3. Letf: R - R be defined by f(x) =1 + x| Then the range of f1s
) R 2) |1, @) 11-1. oo) - 1]
4 The solutionof Sx - | < M and Sy + | > M 1s
114, 5) 2)(-5, 4 1)1-5.5) s )
Y Find a so that the sum and product of the roots of the equation = "+ (a - $)x + 3a, 50 are equal is
hl 2)2 ) Y
. ki P, 1 )
6.1t (x+2)x-1) 142 T 1 then the value of 418
11 2)2 1) 3 4,4
7. The number of roots of (x + 3)* + (x + 5)* = 161s
14 H2 H1 410
8 Whuch of the following 1s not true”
Ij-amf!:—f 2icos I TRl 41.-,'.;“?--'
1
9 A wheel 1s spinning at 2 radians second. hov _mg 1wseconds will it take to make 10 complete rotations”
1) 10m seconds 2) 20m secon. 3) S seconds 4) 15m seconds
10 sinjA-H) Sin{H-C) SIn(C—A)
cosAcos i cos Hcos cos cos
lysimd +sinff+ sin 211 3o d)cos 4 ~cos B+cosC
PART - 11
Answer any 4 qu +t1 us. Question No.16 is compulsory. 4X2=8

LE 16 n(PLA)) = 1024, 4 'V B) = |5 and m(P(B)) = 32, then find m 4 ™ B),

12 Let 4 = {a. b, 1. . Jat 1s the equivalence relation of smallest cardinality on 47 What is the equivalence
relation of larg. ~ ardinality on 47

I3 To secure A grade one must obtain an average of 90 marks or more in § subjects each of maximum 100 marks
If one scored 84, 87, 95, 91 in first four subjects, what is the minimum mark one scored in the fifth subject to
get A grade in the course”

A -II_LE l f'i.l'j: i .Iru'Lr 3

4.1 . then prove that vyz=|

V=2 2Z-=1 L1

15 Find the length of an arc of a aircle of radius § cm subtending a central angle measunng 13
I6. Find the value of: sin 690
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PART - III
Answer any 4 questions. Question No.22 is compulsory. 4X3=12
|7 Find the range of the function fix) = L
COsx
I8. From the curve v = x' | draw
(iby=-x  (idv=x'+1 (ii)y=(x+ 1)
19. Samphify ; - 17. .__I - I r L + L

-

-v& \Iﬁ"-.l." w.T vh o W 1.""-' Wi-2
20184 + B =45 show that (] + tand) {1 = tan#) =3

21 Prove that (secd  cosecd) (1 + tand + cod) = tandsec | - cotd cosecd

22 Find ﬂ”. values of x that Sﬂ“hﬂﬂﬁ [hLL Int:i.|uil.1 ity 2r+3 — <)
C 2] (xeq)
PART - IV
Answer all the questions. 4X5=20

23. (a) Two sets have m and k clements. If the total numby  ~f + ihéet$ior the first set is |12 more than that of the
second set, find the values of m and &
(L)
(b) Wnite the values of fat =3,5,2 . 1.0 .
+x=5 il xe(-x0)

¥ 43x-2 i xefdf)

Nix) =4,
x° if ve N2
| x° =3 otherwis.
24. (a) In the set Z of integers, definem®n if »— n1s a multiple of 12 Prove that R is an equivalence relation
(OR)
(b) Prove that lugﬂ—q-" A "‘hb'— ()
be Lu ah
1
25. (a) Resolve into parti” chlmn'-: —_
=X - |I
(OR)

Ll‘lH]Hu +H|mﬁh} —ill:.u'-.{ ) )
ib) - , - = cos” Ocott)
sin( 2 70 +H|t:sm chnmnhn +0)

26. (a) If one root of k ( x = 1)* = 5x 7 is double the other root .show thatk =2 or 28§
(OR)

(b) If4 + 8+ C~ I80°, prove that sin 24 + sin2B + sin2C = dsindsin® sinC
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